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Quiz Date: 25t July 2020

Directions (1 -5): In the following questions, the symbols @, $, *, # and % are used
with the following meaning as illustrated below.

‘P # Q" means ‘P is smaller than Q’.

‘P @ Q’ means ‘P is smaller than or equal to Q.

‘P * Q' means ‘P is greater than or equal to Q.

‘P % Q" means ‘P is equal to Q.

‘P & Q' means ‘P is greater than Q’.

Now, in each of the following questions assuming the given statements to be true, find
which of the two Conclusions I and II given below them is/are definitely true and give your
answer accordingly.

Q1. Statements: 1# A; A& B & C* D@ E; B&F ;E#H ;G&D
Conclusions: 1. A&D II. D#H

(a) Only I'is true

(b) Only Il is true

(c) Neither I nor II

(d) Either I or Il is true

(e) Both I and II are true

Q2. Statements: S&R&L;L&EM@N*0O%P&Q;N#T
Conclusions: 1. T&Q II. T%Q

(a) Both I and II are true

(b) Only I is true

(c) Only Il is true

(d) Either I or Il is true

(e) Neither I nor II true

Q3. Statements: V#P;S%U; W% R;P&Q*R@S%T
Conclusions: . T@W II. R*V

(a) Only I'is true

(b) Only Il is true

(c) Neither I nor II

(d) Either I or Il is true

(e) Both I and II are true

Q4. Statements: N*T*R% ] &C;L#] ;R&F#M;N#S
Conclusions: I.F#S ILN%]

(a) Both I and II are true

(b) Only I is true

(c) Only Il is true

(d) Either I or Il is true

(e) Neither I nor II true

Q5. Statements: F#L; H*C#G;A&B#C*D@E%F
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Conclusions: .A@ L ILA&L
(a) Both I and II are true

(b) Only I is true

(c) Only Il is true

(d) Either I or Il is true

(e) Neither I nor II true

Directions (6-10): Study the following information carefully and answer the following
questions.

Lok Sabha election held in 7 different phases and on different dates-6, 11, 12, 18, 19, 23 and
29 of two months either April or May of the same year. Each phase has different number of
seats-51, 59, 71, 91, 97 and 115(but not necessarily in the same manner) only two phases
have same number of seats. Election is conducted started from the 1st phase, followed by
the 2nd phase and so on till the last phasei.e. 7th.

Phase 3 election was held on 23rd April for the highest number of seats. Number of seats in
phase 2 election is 26 more than the phase 4 election. Election for phase 6 was conducted
after 6th May and for 59 seats. Difference between the number of seats of phase 5 and
phase 7 is cube of an even number. Election on 11th April was conducted first and on 19th
May was conducted last. Election which was held on 18th April was conducted for second
highest number of seats. Difference between the number of seats in phase 3 and the
election held on 6th May is square of an even number. Election of phase 4 was organized on
an odd numbered date in april. Phase 2 election was held on 18th April.

Q6. Phase 5 election held on which date?
(a) 11th April

(b) 18th April

(c) 29th April

(d) 6th May

(e) None of these

Q7. Election of phase 2 organized for how many seats?
(a) 71

(b) 97

(c) 51

(d)o1

(e) None of these

Q8. Difference between the number of seats in phase 1 and phase 7 is?
(a) 32
(b) 47
(c) 50
(d) 64
(e) 81

Q9. Election for 59 seats held on which date?
(a) 11th April
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(b) 12th May
(c) Both (b) and (e)
(d) 29th April
(e) 19th May

Q10. Election on 29th April held in which phase?
(a) Phase 1
(b) Phase 6
(c) Phase 4
(d) Phase 3
(e) Phase 7

Directions (11-15): Study the following information carefully to answer the given
questions. In a certain code language:

“Strategy Capital Security” is written as “ V#10 Z&12 G#18”
“Article Quota Breaking” is written as “F&6 [#10 1&12”
“Ultimate Vehicle Analysis” is written as “V&12 O#12 M#10”
Q11. What is the code for ‘Medical’?

(a) N#10

(b) V&12

(c) D&6

(d) U#14

(e)None of these

Q12. What is the code for ‘Nuclear’?
(a) 0&10

(b) H&12

(c) M#16

(d) F&12

(e)None of these

Q13. What is the code for ‘Social Depend’?
(a) G&10 K&14

(b) F#12 L#6

(c) V#12 L#6

(d) V&12 H#10

(e) None of these

Q14. Which of the following word is coded as ‘ R&12’?
(a)Prediction

(b) Rise

(c)Disaster

(d) Finance

(e)None of these

Q15. What is the code for ‘Community’?
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(a) L&18

(b) K#6

(c) M&10

(d) L#18

(e) None of these

Solutions (1-5):
S1. Ans.(e)

Sol. I. A&D(True)
S2. Ans.(b)

Sol. LT&Q(True)
S3. Ans.(c)

Sol. . T@W (False)
S4. Ans.(b)

Sol. LF@S(True)
S5. Ans.(d)

Sol. I. A@L(False)

Solutions (6-10):
Sol.
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Solutions

IL.LD#H(True)

ILT%Q(False)
IL.LR*V(False)

II. N%](False)

II. A&L(False)

Phases Date Seats

1 11th April | 91
2 18th April | 97
3 23rd April | 115
4 29th April | 71
5 6th May 51
6 12th May | 59
7 19th May | 59

S6. Ans.(d)

S7. Ans.(b)

S8. Ans.(a)

S9. Ans.(c)

S10. Ans.(c)
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Solutions (11-15):

Sol.
Reverse letter of second
letter of the word
‘ if total number of
consonent in the word is

ART[CLE—) I & 12 - even then multiply by 3 in

\L total number of
consonent and if odd

If number of letter in the multiply by 2

word is odd use-& and if

even use-#

S11. Ans.(b)
S12. Ans.(d)
S13. Ans.(c)
S14. Ans.(d)
S15. Ans.(a)
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